o

I
1o
T

TV

KBS1

20094 8 29U EL¢Y

>

KBS2

MBC

KBC/SBS

T2 HEAL AR T}
FUFLLL O 02%

00 KBS FAZE 00 ZojA M4 o= AT|M 00 MBC FASEO] 00 EQEH 00 81201 ()
30 Ajeta MAlo| Ofl 6) | t~2= Z4H gullo|= 30 S22 (™)
1~35 1~25
3% =0l & 10 27 MBC 7250l |20 KBC 7AXI3 00 S|LEZ(K)
35 AIAIZZ of7[= RI2 40 YA 30 2jo[o] R iz
50 okd FHE(K) “AIFEO] ol A2 Aol AT, AR Q171211 6HH ofn] 8 & E=EA
00 B0 2= 0t 10 41 W7 8t 45 Mol =0l lAE 00 SFsjeEs} e 717k U AmRlo) daglo] g=st ZBACE KBS ETh @Ay (leh =
30 ZUM MALCE 15 A2t 27 S(H) A AW AL LS A A7 AZA 0lHE ¢
(L= 71TAop 30 20fetEsd 2 OE oAl AHQ0)2 018 A de O 98 d & i
30 KBS 72 00 Ofzl=zjot 0 00 SEHZ 45 29D & A=Y 00 BBEWE W22 AIZI(K) A EEl A I8 nAE AR 2 tiE S B mjEolt), ‘B R T
(Matsd) 55 CIdlE 2 15 SE0(2 et = <L}k Sk =olo mo = mo 1S 0] =
30 SEHRIC) AT 1A TV S % £% 2CfH() T, SRl ] Fs e il T e e sl
SBS TV ‘E@’o] Zd&0l MBC ‘MY thao] 2B HiHo] SXich
00 5&2te| ojo|ciojz 45 A3t EC} 00 hje| &

30 tepe|of 2L
50 FEAID 0 KR)

Algh, J0] HE 7HOR]

00 EQY 7IHF0| 220}

45 SHoFAL AHA

00 M= TOP 10 7124

05 27|14 B2 ZX|(H)
30 HAIZIE St 2| (x)

“
QUEL =20 0C LT

2of 62 YA EHsA

Q. QA 207 S olH =

oM, 1 AIBHA 7=)

50 KBS 72
% SMY3=
HIISLICH MufE(RY)

00 KBS 2 55 Lixto] Xt @) |2 MBS 00 SBS 2 00 & 70 2a|H[Z
10 =2t siofet 10 23018 AH 4 10 RSSHEARE 2E 7R
00 Iz g 0 geesa 00 Y=zjn}
30 HERE NG (ORI
55 SH7|E
00 SH&l| 8420| gia=x 05 VJ SZY(RY) 20 S EEN 30 Djetals! Ajo[H(xY)
30 geiz 55 $2ceio} a 02:30 102H EBS 22 £2¢ Ml 13
(CHEHH RERHRR(RH) (OP7IWZ SEBH() R =iy
40 M= Al B|2(xY) 00 2l22lEl L ROISE I
(3] 30 EBS 7|E2A 04:10 o (AEIRED
05:00 (g2l
30 GAHE] AK(RY) 00 MBC 7+ 05 SBS A 05:50 £ LCIOHAE
[ 4 JEETEE 15 Ze0|A7} Zic 05:55 oM Tk= A= |
INEEN 06:00 EBS &= £Z ME-T13(ZAD
. 5 - — — 06:50 Q3K k= 245 1
00 KB:SI A 15 AEl 25 15 EXCIR 15 AEIFEL|0] 20{tt 10 =<0/ 0700 07:00 EBS 7|21} 5t (A5HAN)
10 520/ g2 B = 123 HA e 08:40 (ZAD
= i I O 1)
0 Aol 2l AE 3 Hoiex £29) e W =RletE 25 |00 Bl o T
13:40 EBS EA (£8H1)
S A Zaiojaz Z EMcEn WNEIETES 15:20 » (QoisRE)
18 E}BBSI-;IE¥ » <:\_Eot A 0lEE) > EHI;H_I:EED} } 0 S 16:10 (&=
B =ThETEs =TT 17:50 EBS SHAKIZA (Tf3IAL
00 GAJAT AL 00 SBS 8 A 30 CiF=E 17:55 3 VOCA
(8 25 KB 8 A E
40 SBS AZAFTA
00 KBS 729 05 oloy7} =7 00 MBC FAHA3 5) xoimm #Alo]= 71ojl=
40 Ci7dlE{z| 3 (9] 35 MBC AZX FA (RO AL
15 EX COF TR
(271 (38) FUH A
—— N — —— 08:00 TYICIKIZ
S0}l 3 D tfsl=zto EyE=tl 527/
30 SHE #EED 1 deicap @ Y ecTEEs oEl 09:30 HPRIBAI HEZ 5
10 4z Mojes 2 NS dizdel ATl | ) 10 250 Zualc} 00 AA! Bat 13:00 =2 84S

30 s 2lAAM
M719f B2, Hloj2A
(K71 20138 Hlo[21A0] 4
®:20 F3t7h ECHA)

00 TVES sei2M& A08
55 AZX OfAZ

®:45 X|7HE 2| ZE(R)

10 2820 223

®:10 S35
U 5

(E{O0||0|Ef 2: AlEte| )

[= by

14:00 YEYIH ST
1481 55

16:00 HIAH20[ HEIZ 5

17:00 &7= X228

e At

18:30

20:30 LA AIZ6

* 0| T2 BEAL ARHO| 2}
TV ol % LT 028 892
KBS1 KBS2 MBC KBC/SBS EBS N\
: AH]SHTV A
00 KBS 72 00 =EJLI(xH) 00 MBC 2 00 SBS 2 00 BH=20f 2:(xH)
10 SFL BE 10 BT A(KY) 6) 1072y 10 M&LA 27t 30 =LA {(MBC--
55 KBC ZEIEE3] =
00 Hatat At 00 KBS 22 FAE 00 MBC w2 55 AIARRIEIT =(XH) 5 YT EE -

=)

30 =EJLIR(H) 40 &ZE0| {012 10 2% MBC EE0tE 50 oHd FHE(K)
00 KBS 72 10 ZO{M AIAIS2(H) 10 sHm|ER! 10 =8110005 00 sFabFaEEE2I(R)

10 &EQIEF 0l A&

©

15 X2 &7S(H)
30 =2ojzt &3

| Night

II. S40IHE A1 7

00 Mg, &rof 4% 10 182 25 gl BE 0TV ESESE 00 BEEHE w22 AIZ3(KY)
9 15 22012 Het
3 £ HC{Z(x)
00 F=! cystal= 40 X 24k 45 AlH[SHTV MZ2l0|= 4 = =Z0UZ 00 AEIRX-SEMY
00 TVe: AEYE 50 HotRA ofEt 15 Fofo] ofLojolMd
(2olE T 999)
00 KBS & 40 ZHIZME(K) 00 MBC & 00 SBS 74 30 AlLkE 2kt ofjoijofM

10 M=refxiz

10 Aot 2=

10 SUZE AHAM
55 FUSE
HEHH Aol (RH)

(Why ?)

10 22Aoiz

55 SBS th7|<l

00 Al7[BH AZHA

CrebH| REREREN(RH) (R () (B2 MAED(A) 50 1240
50 E& i
00 &at+(x) (Ojmjo|! mZ) 40 22 Aot 04:10 EBS L&l 624 (ARSD
EL) 6:00 o+ (Eab
. = AE
05 MAKS SiCHAY) 00 FaoiA= 00 S&1 2009 Ao HAEIZ |55 SBS FrA 82&532 ;;%{E_&% !
25 KBS 9172 (A2 OIES)(A) (7080 AT A2 06:00 EBS LAl 62 (33
2Re(7t Sl 06:50 X3{K 7t= 2SI
25 KBS 2 10 MBC 554 05 SBS 27712 50 22 2| 07:00 EBS Lt 62 (X720
35 KBS 01572 20 74720} o750 o (O
ixjel} SiBielLIrt 22 o sy
10:20 111 Vocabulary (&)
3% Zelaos| 20 34| Ao 20 2o Aot 20 2o E} 00 ASi7|=(x)) 11:10 10528 EBS 5 S M&-13
A S ATHS) 42712 1~0% 1~0% 50 MAEIoE 3 (22]1)
12:00 AT I
12:50 ” (ME1)
13:40 (RI7st 1)

00 KBS w2

10 =8, ==4

(Mot 42

00 KBS AH|Ad

@ 2 6 &6 6 & &

55 01 SNzt
(EL=EDD

14:30 1072t EBS +558- 13

16:10 (otofeiot)
17:50 EBS StEAtEA! (ZISIAD

00 KBS +29
40 Frute 4321

05 74 ZME

00 MBC FAHAT
35 MBC AZEXFA

45 AJAFHAZI 2580

00 SBS 8 72

25 KBC 8 &

40 SBS AZAFA

50 F2UI%
(RlpkA Afsst)

30 Q2|B|H(HEE)R)

A0l 7ol =

00 23t K

Ms TV

15:00 7H ZE AIRTA

16:00 47| AL E2l47]
17:00 OIRZ= Ol2 4

20 ZME 7080 25 Cist=ejof 40 MBC FLEHY|2 =2iat |00 7| 00 Hol(xK)
(MFENZ) (I, RE|S9 MMYEE)| (AR
30 SWATX HSHEX 30 lstAl2|x 50 CSI 75 4 10 SBS A4 10 &= 23t S4
(1) 230 3%, sUUY™A | ZAE ANES (UEAIZD) (MSTED
(H719] AOIE)

(Ip71= = = 9{Ch
@:10 CHTBIESZ] 3R(RY)

B 88 8 6

40 L20IES A
®:10 &2H H|C| 2 0fel
A A

i

10 M7 ZH|(xH)
®:10 2|LoC|Z O

42l

18:00 ZEAZAE DP 17]
19:00 A=X
20:00 EAZAEDP L
JIZIEILI ot RCHE 4f0l0]
22:00 O}F 2= Okz st
23:00 MsusALA
2200] 15841 07t Z27H

c1g'9) 7ol =5 AIFZE 5~6%0 Ha
g= TAIT

9T 29717t Botg.

majo =Y |-

™ 10A|453)

(Gelgo-ast)

EBSZ22]

00 EBS 52214 (£2|8%)

50 HoIM Th= AWE 1 (&)

00 EBS =SZ2IA (F2/ED(AY)
50 EBS SIEAEA (F3IAD

b5 EBS SHERIEA (ZEIAD
20:00 EBS EA (SILKEEH1))

20:50 HoiM Th= 2= 1 (W)

18:
18:
19:
19:
19:

20:55 3& VOCA(RM)

21:00 EBS ZEA (RIHEEH2))

olm| A E Hold A 1l 180

I8 7t 83 2 g g |

= df

= HA

i

10:00 RtAQ] AlH|(RH)

10:30 2IH2[EIL FOIEE(T)
11:00 Bof AMe|

14:20 Wooly Bully Magic
14:40 Magic World

aie gzt

&0

“Biol= HE Bzl

&2 ofg)al A, AHE HEelEE
o

11

X18459%

ofo] 2. M7Iek= Al AmAo1K.

Zn|erolz} Beled of@A 475

e
LE EQIT.

SAt

Q= Epg AT Q) 1. TRl o]

2 S EA ot CHOM E2 Y22 A fle a2 2 dog.

BgHeE, 0 BhR)7 BAG AT HEOIZH 2H = WS W4
of (7|HNol B2 AFA olg|SE ok

‘YR 2315, BEREU7A ZAs 0]
=d7|2 22 37}

o 8 AlE flsiAlet

= I8 W7 Ha 4

Pl e

EBSZ222

06:00 ArZISRIAF WSBE
08:30 &4 Bt=0i4
09:00 Zretala AfOJH
09:30 2RI

19:40
20:00 &M L= St=5H

(HZ)
SIRIRIE Z2S(M)

20:30 T ofo]

21:50 HoiM Jk= AS (AN 15:00 EBS £& ZIE et MMEH(TH)
22:00 EBS EA (1MES} (F013-2
22:50 EBS SHEAIZA (FalAD 15:30 ” (£&t3-Lh
22:55 EBS SHERIEA (WSIAD(TH) 16:00 ” (=F014-2)
23:00 EBS ZA (IMEEH 16:30 " (LY
23:50 EBS SHEAIZA (ZSIAD(M) 17:00 " (F015-2)
23:55 EBS SHEAIZA (MIAIAD 17:30 ” (et b-Lb
00:00 EBS LiAl 62 (=01(3H) 18:00 " (R016-2
01:40 " (FEld) 18:30 " (£&t6-Lh
03:20 " (FAD 19:00 O{ZI0] FAI=2ID}
SBS =2fut KL B TV
07:00 5 OfLH 0 1724 714 HSARA 08:00 Xi57| &I AT

09:00 TVEE=Y

10:10 AIZS OFFL} BiL
2:50 Xp7|0t

00 HEILE 2

10 £ZIEEL A 0210|
120 AEKY

:00 2|7} et

00 S=0|AT4ZICH

4
5
6
9
0
1:10 P[0t

1
1
1
1
1
0
0

({ Extreme Surprise »)

1980 o] % ml=Roll A ZASH S0 H=S! Bt
ol Al < 8} k)] A 7} FHolfle 71 e
s ddH=s! I 1

o2 FALN?

1925 OlRlES EHESHE BIA S BN 2715 AIciol
Ya Elct. SR AR S0) IRl E 276 BALS Zas)
S BN, T RAK] S012 4 42 A2

EBSS321

17:55 32 VOCA

18:00 102t EBS 552~ 113
(@R01E()

18:50 WB{K JH= ZS 11 ()

19:00 102t EBS 552~ 113
(SR018(2)

19:50 EBS &HSAtEA (£8IAD

19:55 EBS BIATIZA (25iAD

20:00 10724 EBS 552~ 13

(F2I%-2341 (1))

20:50 oM Th= 2= 1 (TH)

20:55 3& VOCA(R)

21:00 10:2M EBS #5524 113
(2|gA-28H1(2))

21:50 oM T2 AE 1 (A

22:00 EBS #2214 (2=0{¥Y)

22:50 EBS SHERIZA! (£8HAD

22:55 EBS SHEXIZA (LSIAD(T)

23:00 EBS #2214 (2=0{¥Y)

KBS E2tot

03:30 Mot7A EQ¥U
05:00 CEPA| RIRKRY
07:20 22 X5k= gAt
12:40 HI2H EQY
14:10 SHZIMH(O]
16:40 CHEPH| RERFRY
19:40 ZA2ZME
21:00 140

22:30 MolFA EQ¥

00:00 SHIISAHCE AIZ3

A% EA=H.. A

10:2

12:10 LHMEEHIN: HIZolz4
14:20 AT|EH0|M

16:40 EHAZE{: 2JAEDIM
18:25 EQIzial

20:30 3I{Z=3

22:00 AADIE

23:55 O[QIZ

01:45 /==

03:30 M

#1. 2F2HHI0I=E

10:00 Mb7| Sr==7FEEH
IR ES 3=
12:00 ASSIHH EX
13:00 2009 SZ1-HH
NIAHISESUE
15:00 EEHIF2|D
18:00 YES 24 DWSEH
19:00 KB =2I2%
2009 Bt=tiS2|a(4)

21:00 SEIBE0] 0L 2y

level 1

21:40 SEIBE0] 302 2ty

level 2

22:20 SSIBL0] 30 2+

level 3

23:00 Enjoy Stories!

level 1

23:40 Enjoy Stories!

level 2

00:20 Enjoy Stories!

level 3

01:00 OFAlOHEIDE [
01:50 0|8l &

KCTV 3583 oo

0:00 KCTV 72
0:10 MET=2i0}
0:20 L VJAICH
0:50 KCTV Z242]
(2009 AR 452
11:00 3 Xt
12:00 KCTV 20
13:00 KCTV EMCIR
14:0
145

1
1
1
1

0 KCTV 2ai0tg
0 KCTV EE01g

(T E22 AN ))

1992 A7

2, HolSEUAET} 50]

ot e Edcks SFERT 2ot 8" ol ¢ g go}

gz

HZI7F 2ol A HlolEdl A8 REGh=H)-.
#2. A0k= HIAMOIZE /=Tt 20094 Bl=. si=vhdet 2=

Hels AL SET AEE gl SEE HRUTE 28 o=
o, ke sold 55 500g. Hele 71HaA tholoEal &

ABIAEE o] dskAl = A= HE

#3. 5|2 E2} 0120
20]24] OF&50l == B ZE. JIBfH ol g, 2XF tho] erEstal
SIZEE Adol U7 Eil 0t0]9} gl 2E=

19374

T b A Q=T

HRI2 S 2

50 GlLt

00 HUEHA

bh HHEHMA

b5 LHAILSRARE AR
18:45 TAQ|Y

20:45 S0|2E=Z2|
22:20 5|012X3

00:00 &M

01:50 OlOFF2IE

03:20 JHOJA|AEZ]

10:
13:
14:
16:

SO{T 7hal-,
O1E =

=1 LAl

2 wjEof g ¢iol of

=
ol 2 7

EBSE3|22

06:00 2009 SLISTHAL AIZICHH| ZZt
08:30 &2 et=0i4 21
09:00 TVE B 2AIS3}

11:00 S=Z01 7|ZCH |

11:40 E=10 THHIZ%

15:00 EBS & ZIEEH MME(TH)

OfZI0] AAt=2tat
(BE

19:40 ES0[2 H=HM)
20:00 & HiR= Bt=atT
21:00 Magic &

ol o
5 g2

MBC A

08:00 Z&E2E 27t

11:00 TEKKEN CRASH S2

13:00 2009 OF2 MSL
daI|-2s

17:00 AEHSEHEM

19:00 BEST CHOICE

22:00 2009 OfZ2 MSL 25

23:00 2T AYE9| YHHE a2t

01:00 FetEa

03:00 STAR VS STAR

level 1 (XH)

22:20 Magic 53t 328

level 3 (XH)

23:00 St B01 Saf

(AIE1 3-2> level 1 (XH)
” (Ifet3-Lhy  23:40 B8HY0 S
" (Mf&14-2> level 2 (XH)
” (Ifst4-Lby - 00:20 B8 H0i S5
” (M&]5-2> level 3 (TH)
” (Brets-Lh  01:00 CHF 010
" (A5 6-2) 01:30 LAITIE Sz
” (ofst6-L  02:00 20]Q 25 CHEE(M)

KCTV 2585 o

0:00 KCTV &2

10 Mtz

30 MMAZEA

:00 KCTV efmal
AR AAlHES)

12:00 TV YalEzt

13:00 32 it s

14:00 =9 % HAIS &=

(XIo10] &2 3t ghy
14:50 KCTV M0t

0
0
1




